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)RUIHLWXUH RI /HDVH

6HFWLRQ ����� $Q\ VXFK OHDVH PD\ᤀ
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RI RWKHU DSSURSULDWH UHPHGLHV
IRU EUHDFK RI VSHFLILHG FRQGLWLRQV WKHUHRI�

/DZV ����� &KDS� ��� 3� ����

$SSOLFDWLRQ DQG &RQWHQWV
6HFWLRQ ���� $OO DSSOLFDQWV IRU D OHDVH VKDOO PDNH DQ DSSOLFD�

WLRQ XQGHU RDWK� GHVFULELQJ WKH JURXQG VRXJKW WR EH OHDVHG� VWDWLQJ
WKH FRQGLWLRQV WKHUHRI� ZKHWKHU WKH VDPH LV WLOODEOH RU FRYHUHG
ZLWK � YDOXDEOH IRUHVW� GHILQLWHO\ GHVFULELQJ WKH QDWXUH RI WKH WUHHV
JURZLQJ WKHUHRQ� LI DQ\ VXFK WKHUH EH� DQG VWDWLQJ WKH XVH ZKLFK
WKH DSSOLFDQW LQWHQGV WR PDNH RI WKH JURXQG VRXJKW WR EH OHDVHG�
6DLG DSSOLFDWLRQ LV WR EH PDGH DFFRUGLQJ WR WKH UHJXODWLRQV SUH�
VFULEHG E\ WKH *RYHUQRU DQG 6HFUHWDU\�

/DZV ����� &KDS� ��� 3� ����

6WDWHPHQWV� (WF� 8QGHU 2DWK�

6HFWLRQ ���� $OO VWDWHPHQWV� UHSUHVHQWDWLճ蜐Ł

RDWK�
UHSUHVHQWDWLRQ RU UHSRUW VKDOO EH JXLOW\ RI SHUMXU\�

/DZV ����� &KDS� ��� 3� ����

5XOHV DQG 5HJXODWLRQV
6HFWLRQ ���� 7KH *RYHUQRU DQG 6HFUHWDU\ RI $ODVND DUH DX�

WKRUL]HG WR SUHVFULEH WKH QHFHVVDU\ DQG SURSHU UXOHV DQG UHJXOD�
WLRQV DQG WR GR DQ\ DQG DOO WKLQJV QHFHVVDU\ WR FDUU\ RXW DQG DF�
FRPSOLVK WKH SXUSRVHV RI WKLV $FW�

D FRUSRUDWLRQ XQGHU WKH QDPH DQG
VW\OH RI �7+( $/$6.$ $*5,&8/785$/ &2//(*( $1' 6&+22/
23 0,1(6� DQG E\ WKDW QDPH VKDOO EH FDSDEOH LQ ODZ RI VXLQJ
DQG EHLQJ VXHG� WDNLQJ DQG KROGLQJ UHDO DQG SHUVRQDO SURSHUW\�
FRQWUDFWLQJ DQG EHLQJ FRQWUDFWHG ZLWK� DGRSWLQJ DQG XVLQJ D FRU�
SRUDWH VHDO DQG FKDQJLQJ VXFK VHDO DW WKHLU SOHDVXUH� DQG GRLQJ
DQG FDXVLQJ WR EH GRQH DOO PDWWHUV QHFHVVDU\ IRU WKH SXUSRVHV RI
DQ\ IXQFWLRQ DV KHUHLQ VHW IRUWK�

/DZV ����� &KDS� ��� 3� ����

7UXVWHHV ૲$SSRLQWPHQW DQG 7HUP RI 6HUYLFH
6HFWLRQ ���� $QG� EH LW IXUWKHU HQDFWHG� WKDW WKH *RYHUQPHQW

RI WKH $ODVND $JULFXOWXUDO &ROOHJH DQG 6FKRRO RI 0LQHV VKDOO EH
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